CONNAITRE LE DIAMETRE ANGULAIRE DE SA CIBLE (cercle central)

Etape 1 : Sur Astrolab Stellar : https://www.schoolsobservatory.org/astrolab/?Ivl=1

Noter le « Target radius » qui est le rayon du cercle central de la mire (Exemple ici : 300,0 pixels). Et

le multiplier par 2 pour en déduire le diamétre. Diamétre = 300,0 * 2 = 600,0 pixels.
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Setup Targets Results

Advanced Options

Guidance

Measure an object’s brightness by adding a
target to it Make sure the target radius is
large enough to include the entire object.
Your measurement includes the object plus
some background light. We call this sky
background. \We measure the background
light within a ring around your target. You
can change the size of this ring using the
sliders.

Make all targets this size The brightness is displayed as the total
Pixel Position; (2536, 1077) target counts. More counts mean more light
Total counts: 37484592 You can add as many targets as you want

2y Check your measurements and download
(ElgiEEn (e 28 data from the Results tab and use the
Sky background average: 99.00 Ad d Opti tab to add d
Total target counts: 9497589.0 vanced Lptions tab to add errors an
instrumental magnitudes to your results.
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Etape 2 : Sur Nova Astrometry.net : https://nova.astrometry.net/upload

Uploader la méme image que vous avez uploadée sur Astrolab Stellar. Astrometry.net va trouver tout
seul de quelle zone du ciel il s’agit. Et surtout vous indiquer I’échantillonnage de votre image : c’est-
a-dire a quelle portion angulaire de ciel correspond un pixel de votre image.

Aprés un temps d’attente, la mention « Success » apparait en vert a I’écran. Cliquez sur « Go to

results page ».
R i3 o to results page

Success

Source extraction image (fullsize)
Log file tail [-]
(full)

No reference stars in the bounding circle
--> log-odds ©

Job 9251240:
Success

Calibration

Center (RA, Dec):  (68.975, 41.490)
Center (RA, hms):  04h 35™ 54.060°
Center (Dec, dms): +41° 29' 24.528"
Size: 48.7 x 32.6 arcmin
Radius:
Pixel scale:

Orientation:

Résultat : Multipliez alors le Diametre en pixels par cette valeur : 600,0 * 0,532 = 319,2 arcsec.
Divisez enfin cette valeur par 60 pour I'exprimer en minutes d’arc : 319,2 / 60 = 5,32 arcmin.

Retenez la derniere valeur pour I'indiquer dans votre rapport d’observation :
https://www.afastronomie.fr/comete-hartley-2
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